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bRAH 200 50% 500 FOk 500
Bk BT 500 MOE 500 FHOH 500
E=t/Om) 200 BHO 1000 ROZE 500
ok 500 FROT 500 HOF 500
TR 500 SROE 3000 BHO= 1500
FERREE 500 E(0)5% 500 205 3000
BHORE 1000 FFOHR 500 EOHE 500
2 R 5 500 #0H 500 =05 1000
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RN BEE A B A S
GEYAL - 500 E2OU 500 RO 500
EEL 1000 SO 500 HOWE 500
EETE 500 BO% 500 FRO#E 1000
JESR % 500 O 1500 BHOFH 500
FET 500 BOR 1500 HOFE 500
F{= 1000 wOHE 500 40 3000
SR E 500 FROBE 1000 SERHOFS 1000
FRE 500 PO 1000 RROER 500
B9l 500 F0%& 500 #O%E 3000
EIRIE 6000 0 500 O 500
R 200 %08 200 BEOIE] 500
S 500 Zi0) i 500 SOE 500
FRER 1000 ZZ05% 500 HFOX 500
Bk Rz 500 O, 500 FOr 500
O 500 RO 500 SHOME 500
O 500 E(0)= 500 BOH 1000
5085 500 THOE 500 A OH 500
STORk 500 0th 300 AOfE 500
HOR 500 =O[E 500 O 1000
510538 500 fHOTA 500 fHOZE 500
(05 300 FROES 500 PO 1500
BOHT 1000 #HOH 500 B O%% 3000
O 500 FROFE 500 (0% 500
MOf& 500 PRO%E 500 =OFN 500
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A SHH A SHH A BEE
FROZE 1000 LI{Q)s! 500 22075 500
fROS 1500 GHOES 1000 BEOfY 500
S OHf 500 L2017 500 =OE 1000
210z 500 BHOME 500 2041 500
ESQL 500 BOE 500 EO 1000
FOE 500 =OM 200 =0 500
TOE 500 SEOE 1000 EOE 500
=0 500 HHOTT 500 FEOFE 500
KOk 500 fEOTT 500 #HOH 500
5RO 500 =OH 500 FEOfE 500
BROME 500 E1033'% 500 =:10)5% 500
FROF 500 N0 1000 FEOFK 500
FRORK 500 0 6000 HOE 1000
HFOTE 500 BEOfH 500 0% 1000
10} 500 FEO) 1000 O 500
0% 500 5EOHi 200 FHOE 500
Z0Jk 500 #FOHE 500 EEOIMN 1000
RO 500 FOts 500 FROHT 500
RO 500 #EO0F 500 %0 500
FROER 3000 ELOF 500 ARO)ES 500
FO%% 1000 OB 1500 B0 500
gl 500 O 500 O 1000
HOX 500 0% 1000 BROZE 3000

O 1000 ZRORS 200 HOFS 500
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RN BEE A B A BEE
#OfE 500 I OHE 500 21085 500
HEORE 500 FOzE 500 FEOVE 1000
fA0$% 1000 FROTF5 1000 TTO 200
BOE 500 O 500 A04L 500
A O 1500 BIOH 500 S OREL 500
HRO% 500 HFOE 500 75073 500
20 1000 EHOME 500 L1057 500
ROE 500 FEORE 1000 52O 1000
BEOTT. 500 SEOF 1500 FROZE 1000
SFOfE 500 O 500 BOE 500
0%k 1000 oS 1000 =048 500
BRO%D 500 TOBE 1000 FROIE 500
BROZR 500 HOZE 3000 #O%E 500
Ot 500 BEO%E 500 =OTT 500
OB 500 FOE 500 E1Q)= 500
OB 500 fEO 5 500 FEOZE 6000
FOk 500 o)zt 500 BEOFS 500
O 100 FHOIE 500 BROZR 1000
HEOZ 500 205 1000 BOZE 300
HRORE 500 O 500 O 500
200k 500 (Ol 500 fal O 500
FOHE 500 RO 1000 SO 500
A0 500 FOs 500 BRO®&E 500
SBO%E 500 FEOR, 500 fHOZE 500
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RN BEE A B A BEE
ORI 500 =OFE 500 BEOEY 500
ROZE 1000 WO 1000 FEOE 500
BROEN 500 TEOR 500 RO 500
E=(0}2 500 SOy 3000 O 500
TROZE 500 =OF 500 HFOHA 500

#[0 1000 BHOIG 1000 208 500
FRO#F 500 0 500 O 500
fii 0% 6000 FROJEE 500 5RO 500
BRO 500 FROE 500 fHORE 1000
fa[OHH 500 FEOH 1000 8 0% 200
HOE 100 05 500 SEOYE 1000
FEORE 500 FOFH 1000 MROZE 500
OB 500 05 500 FOR 1500
Ok 500 BOEL 500 OB 1000
TO8E 500 O 500 EHOME 500
BROTE 500 J508% 500 FOM, 500
pROM 1000 FOE 500 BROA 500
RO &, 500 BEOE 500 BHO$% 500
FROZH 500 TO8E 500 FEORK 3000
ZOE 500 RO 1000 F OB 500
EEOf 500 BHOSY 500 = OHi 500
HROE 500 HOEE 500 FROE 500
FEOIH 1000 BHO%E 500 BROZE 1000
BROFS 1000 BRO%E 500 FEOEE 500
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RN BEE A B A S
8 O3 1000 O 500 BROfE 500
=08 500 210t 500 B0 500
=107 500 %0un 1000 HEOJE 300
50K 300 SOf@ 500 tROZ5 500
ZEOSL 500 =F040 500 FEOFE 500
FO% 500 FEOHH 500 EHOTF 1000
FROZE 500 BEOFS 500 HHOZ 500
FEO 500 FOIE 500 SO 500
(O] 500 BRO%I 500 SOfE 500
B[e:2; 500 O 1000 BO%E 1000
FROZE 1000 FEOLT 500 POE 500
O 1000 BHOZE 500 0= 500
REHO( 1000 KO 1000 O 500
O 500 BEOE: 1000 IOk 500
E=(0): 1500 BRO®A 1000 FROAM 500
BOF 1000 L0 500 BROTA 500
& O%] 1000 O 500 BHO#Y 500
=0 500 RO 500 JHOSE 500
#OHE 500 HOE 3000 BHOBA 3000
FOH 1000 BEOE 500 089 500
WO 500 CHANGOENN 500 [50) 500
F0%= 1000 HOE: 500 F O 500
BROZH 500 FROFT 500
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